Proračun recepture
	Vb = 1 m3 = 1000 dm3
	Volumen, dm3
	Masa, kg

	Cement,          kg/m3, (c =          kg/dm3
	(2)
	Vc
	
	(1)
	Mc
	

	Voda, W/C = 
	(3)
	Vw
	
	(3)
	Mw
	

	Zrak,  
	(4)
	Vz
	
	
	Mz
	-

	SYMBOL 83 \f "Symbol"
	(5)
	
	
	
	
	

	Agregat, (a =        kg/dm3
	(6)
	Va
	
	(7)
	Ma
	

	UKUPNO
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	Masa
	Površinska vlažnost
	Vlažan

	Frakcija

mm
	%
	površinski suhog agregata, kg
	%
	kg
	agregat

kg

	(1)
	(2)
	(3) = Ma SYMBOL 215 \f "Symbol" (2)
	(4)
	(5) = (3) SYMBOL 215 \f "Symbol" (4) 
	(3) + (5)

	0 - 4
	
	
	
	
	

	4 - 8
	
	
	
	
	

	8 - 16
	
	
	
	
	

	16 - 31.5
	
	
	
	
	

	UKUPNO
	
	
	
	
	


Korigirana količina vode: 
	MASE u kg
	Suh agregat
	POVRŠ. VLAŽAN AGR.

	
	1 m3
	1 m3
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